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QUESTION 1

A customer is experiencing elongated batch job run time problems on a two-way T67700 grid during the last 24 hours.
What statistics should be evaluated first to review the performance of the TS77007?

A. RMF data

B. BVIR historical data

C. SMF Type 70-78 record
D. Channel utilization reports

Correct Answer: D

QUESTION 2

What is the maximum speed of a single EICON adapter in 3957-VFJ7 running R2.1 microcode?
A. 2 Gbps

B. 4 Gbps

C. 8 Gbps

D. 16 Gbps

Correct Answer: B

QUESTION 3

An existing TS7740 customer has chosen to upgrade with additional 200 MB/sec Enablement and 7 TB Tape Cache.
Which of the following is the best business objective on the above upgrade?

A. The customer would like to improve OLTP application response time

B. The customer would like to improve the RTO (Recovery Time Objective)
C. The customer would like to improve the RPO (Recovery Point Objective)
D. The customer would like to improve the tape backup jobs processing time

Correct Answer: D

QUESTION 4

Which two are types of nodes in the TS7700 Virtualization Engine architecture? (Select two)
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A. hNode
B. vNode
C. sNode
D. pNode

E. tNode

Correct Answer: AB

QUESTION 5

To what value should the missing interrupt handler (MIH) be set for 3592 tape drives?

A. 93 minutes

B. 39 minutes

C. Auto set by the system
D. set explicitly to "disabled"

Correct Answer: C
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